MAI314FIESTACOREQ1414READY039-Alfredo Alvarez https://xlitemprod. pearsoncm com wlapr:nb’math

— — w._.ﬁ.&_.:g

‘Student: Instructor: Alfredo Alvarez Assignment: Gt -£
|Date: Course: Math 1314 Alvarez . MA1_3_14FIESTACORE91414READY039 3
e . JZE % \ . / i s
~ Solve th® equalf -5 T é’ —vac -3+ 3
B s YR o T
14x° +3x-2=0 __ —+ FT:- i
Grt b3 cz- Y= f3J (2 V’Q’UX £ o X*‘ ./— %
The solution set is { L. 2C/7 9> ______,, 2y 2 y
(Use a comma to separate answers as needed - fﬁi O A - = 4
Y= -3 TS T+ y / ) i
Answer: 2 1 2) @ va
17 y=-3 ty7ET @
2y / ﬁ
D155 N ey }4j W 2"
— A . 7 = S AL S R
2 . - +|J ~¢,
Solve for x using the - )( 5 /7 dThe solution set i IS
2 (Type an exact answer, using radlcals as needed. Express
l_x -4x+29=0 X ("‘l) + numbers in terms of i . Use a com to separate
az ), b - Y, (=29 ﬂ![’"ﬁ ad E@sasneeded)
201) = ”‘/u , /t
Answer: 2+5i 2-5i q,-f-m
V7o —/e (7-2#'3/1 EM)’A/(‘/'F

ID: 1.5.73 /1/ (/\f’ Q’- 27‘5/’__) Oﬂ
3%+ 31 =x // W St

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The solution set is { } — 2 \
]

(Use a comma to separate answers as needed.)
() B. There is no solution. ’W
s ]
Cl\{gg_

Answer: A. The solution setis {Use a comma to separate answers as needed.)
izt o (XA
r""“? / )
ID: 1.6.15 (fz.(z)—#}} (—2)—1-7/ V3C-9)~+31 = tvt7?

(3% 31 Tyt 3) Q/—/y F3T = 247 V213 ~F+7
343~ etV 47 N\ V2s:= § Ve = =4
3x+3[=X —*7%-*7%;;’4 \ £=5 2=—7
}x—ml"/‘( e TALas \ G
O" X —f/s/,(—ff/ﬁ =3/ BﬂD

= XSt XY

Xt 6+ 9) S
)(,_f(z_ 0 0(/& X-9=-0 B

Jfr-t=o~t ot K779 o~ N
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4,
Graph the given functions, f and g, in the same rectangular Ay
coordinate system. Then describe how the graph of g is 104
related to'the-graph of f.
f(x)= x \ |
x}= x-6 .
g(x} 5]
Use the graphing tool to graph the functions.
How is the graph of f shifted {0 get the graph of g? ] o
i 5 [ 5 10
The graph of g is the graph of f shifted (1) ]
by units. i
-5
-10-
Lon = ST
(1} © down 6(_{:_._____ J;"r g !
) up ) = [ C” C?_ I

9-0 >

(1,5 <ﬁ(°’7

) 5(1)~ (,,,

(o,
(v gy =1=%

(1) down S j( I) T
® CVS( §Vap/w~; C;/ck P

ID:2.1.38 _ 7{'14" .PJ = -_/2? \ I -
XWax — /1
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L

5. Use the graph to determine R
(a) open intervals on which the 5
function is increasing, if any. x
{b) open intervals on which the T65-432N1234567
function is decreasing, if any. -2
{c) open intervals on which the -4

function is constant, if any.

(a) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

C A. The function is increasing on the interval(s)
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(O B. The function is never increasing.

(b) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(O A. The function is decreasing on the interval(s)
(Type your answer in interval notation, Use a comma to separate answers as needed.)

(O B. The function is never decreasing.

(c) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The function is constant on the interval(s) .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

() B, The function is never constant.

Answers A. The function is increasing on the interval(s) [( =co, =2),{-1, 0)].
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The function is decreasing on the interval(s) [(- 2, = 1),{0, )|,
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The function is never constant.

ID:2.2.9

f’ !
Q

—

5/20/2019, 12:28 PM



MA 13 14FIESTACOREQI1414READY039-Alfredo Alvarez

N

htips://xlitemprod.pearsoncmg.com/api/vl/print/math

The graph and equation of the function f are given,

: , f(x) = 2x3 - 3x% - 12x+ 5
a. Use the graph to find any values at which f has a relative

maximum, and use the eguation to calculate the relative Y\/\ ks i'L_\ r
maximum for each value. ) Q,\ )
b. Use the graph to find any values at which f has a relative - DR

minimum, and use the equation to calculate the relative ')\-J' E ‘ ) .
minimum for each value. \(l\ (2, -5 MI "

[-56.51)by[~18,18,2] W
a. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice. \ &

ks

(0 A, The function f has (a) relative maxima(maximum) at and the relative
maxima(maximum) are(is) .
(Use a comma to separate answers as needed.)

i) B. The function f has no relative maxima,

b. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.

(L) A. The function f has (a) relative minima{minimum) at and the relative
minima({minimumy} are(is) .
(Use a comma to separate answers as needed.)

i_} B. The function f has no relative minima.

Answers A.

The function f has (a) relative maxima(maximum) at -1 and the relative maxima(maximumy} are{is)
— . e

(Use a comma to separate answers as needed.)
A,
The function f has (a) relative minima{minimum} at E and the relative minima(minimum) are(is)

-
(Use a comma to separate answers as needed.)
A 5repha el fete o

pazs g i o Ix"3—— "y :—w

tof23
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7. The domain of the piecewise function is (- o0,00}. x+2 if x<3
a, Graph the function, f(x) = .
b. Use your graph to determine the function’s range. x=2 if x23

a. Choose the correct g

I

Answers

ID: 2.2.47

8. f(x + h) - f(x
Find the difference quotlent of f, that is, fi nQﬂ#O for the following function. Be sure to simplify.

(/f(x) =x? —3x+7

H?(” h) - :' (Simplify your answer.) m
Answer; 2x+h -3 @,)’3()(‘1’ é)'{—?) (X 3)('/‘7/) —

2
(AR) (xth ) =3 x =3 h+] =X —+ 3x~7
h

Xt xht xhth =5 x~3h 77 ~x E34—7 —

M4 3 Iﬁ _f-/’,?/ —/I—f%—f
h

ID: 2.2.61

[

2K h—+ A = ‘J

lex + bf—- 2= d;iﬁlwer

—_— 5/20/2019, 12:28 PM
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9.

Use the graph of y = f(x) to graph the function Choose the correct graph of g below.
a(x) =f(x+2) +4.

y =f(x) O A
er
B-

10: 2.5.21
-_—-—-—_"'_'__'_'_._-_

10. Find the domain of the function.

Q(x) =y2B-5x

i

What s e domain of f?
2A — o~ tF
l f {Type your answer in interval notation.)

Answer: (= 00,5]

ID: 2.6.23

—
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1.

Tof23

e

:”! f
Firstfind f+g,f-g, fg and E/Tén determine the domain for each function.

CMT‘;’:TT@(") —x47 \

(f+g)x) = f—‘I (Simplify your answer.) 74 X/ -+ jﬂ) -
What is the domain of f + g? (Z,X Y/ X)) + (A+1) = —0d (Y ) e
O ) RxXCrloxr1v +X7T=
° (Ba) X Hxr /v /17T

O (- QL F 17X+ 2 ) =
7[5

(f- g)(x)=: (Simplify your answer.) )6(,? — 5 =

ghatisthedomainoff-g? /th"f'/cf'f‘/y/ ___(X_(’?) -
21

LFmJ X Al p I — X—T =

O (-00,00) T ' —

o CXSHICHF1Y —Jx—7 =

B L e b v

-~ 3

::\::)i: ;he domain of fg? "J{éﬁ]"_.’—i—{—{‘—)“f = _ “ le e, —\ =
. e (Z{’L.—f- / W/Wﬁ(jﬂ - —02 o)
(- c0,00) .
O t-m-mu-tm ZX /Y A 4/t fI2 A TPXF T § =

[FL et eex T
(=) el

[é] (x)= ‘:’ (Simplify your answer.) ;75——3'{) 2—~~(— X . ) ‘ /

1
What is the domain of é? 1‘[ —t { CXF/ j:

O (-T) X+

O (=o00,=T)U(~7,00) A ) L/
O ) 2 x HIXL e ( :
O (=c0.0) N Tl )

o (+7)
2 (X + 1) (X+7)

--—""_-.-“-.-'_-.-_-‘._

| @’f oF

52012019, 12:28 PM
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Answers 9,2 4 17y + 21
(= 00,00)
2x? +15x +7
(-~ 00,00}
2x7 +30x° + 126x + 98
{-c0,00)
2x+2
(= 00, = 7)J(~7,00)

ID: 2.6.35
——

I —

12. F@@ the following f;.lnctions 6[0 ))/,0 /( G 9 )[)() z3 Xortt é
,ﬁ' Lo ) (0) = Jor 6

a. (fo g)(x); b. (g o H(x); . (fo g)(O0}; d. (g o (0) 2:)) =

a. {fog)}=| | (Simplify your answer.) / (3xe1)=
bxrr) +y </

b.{gof)(x)= l (Simplify your answer.) 3 X-—f 2

c.{fe@@=__ |

d.(@on(= | (?de/ - ;
Answers 3x +6 j{ ;é()) < (j (
v S0 (S

s I xry) FL =/
3XAILAL =/ @1{ X0
. ID:2653 QX’?"@ e

13. Find th\fﬁstance between the pair of points. J (s 46 v A
_\_\_‘—\_\—,_:—'_
(14) and (10,16) d = \f(f *‘/Q —F /«7 7)2,

Y KMo
The Jistance betwi th ints i l ] it
(Round to two dec::; pIZ::;naz Ir?eeded,) " S’CI lr/ (( ) — / U) } = —f- ( /C/) — ( / ())

Answer 15 d = V19~ ¢4 ~/o)t
ID: 28 d= ([(‘) ’/‘("*/Z)L

- UZZ s m
CEEFTT

_—

g -
of 23 52012019, 1298 PAT—




MAIL3 ]I4FIESTACOREQ 1414READY039-Alfredo Alvarez https://xlitemprod.pearsoncmyg.com/api/v 1 /print/math

e/ Poiat - ()(lf”i ﬁi_’f_,"’t)
z -

14, Find the midpoint of the line segment with the given endpoints.

J

(4,8) and (10,6) 0 f

Gy = | Pt /(997‘79) (ﬂ—_f@)}
The mlc‘pomt o}'the segment is ) r
(Type an ordered pair.) m. 04 }ﬂo ] / Qér‘/-_J E > { )

Answer; (7,7) //‘4 A )ﬂu ) (/(/ /cf,
ID: 2.8.19 /] 7 ) )‘ ﬁ"\ 39/
-— }ﬂ’-' 1‘\4 7
15, —
Complete the square and write the equatlon of the . curclem' jry
ardform. Then determine thecenter and radius of the ‘0'_

circle to graph the equation. o

x%+y? +Bx+By+21=0 6

Yot lx ~+ 9 cgy =~/ s

The equation in standard form is
(Simplify your answer.)

Use the graphlng tool to graph the circle. L T R A 31 & B 15"

(e (9 sty (i omar (11 f(l/@}-
’("‘@)"*/3) 7 *7‘7*/5/) =2 +(3) —fru)’t
X 6x 79ty *077—/‘/6 U+
X't exX+5 95479y )¢ = «

Answers(x“:p-g}l-;(’i4) =4 Q(,_f 3)()(_/'5 ?,7& /y _{—L{)(‘j—f-(/) - Y
oF Y (yry) i
g CenTen < (3 -7
: _ 78(-/1 “l W =

of 23 512072019, 12:28 PM
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16.

Use the vertex and intercepts to sketch the graph of the
quadratic function. Give the equation of the parabola's axis
of symmetry. Use the graph to determine the function’s

dﬂrg;ip.an&fahge—-.___‘__\‘

f(x) = xX*+4x-5
&/—-—'—'{H”/

Use the graphing tool to graph the equation. Use the vertex
and one of the intercepts when drawing the graph.

The axis of symmetry is i

{Type an equation.}

The domain of fis [

(Type your answer in interval notation.)

The range of fis I ]

(Type your answer in interval notation.)

Answers

htips://xlitemprod.pearsoncmg.com/api/vl/print/math

10

x==-2

(= 00,00)
[=9,00)
ID: 3.1.27

5/20/2019, 12:28 PM
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]/vw A ,(
7. Consider the function f(x)- - 3x% + 30x - 1 W/ b’( 7 /
=30, CT /

=T
a. Determine %Q.} graphmgfwhether the fufiction has wue gr 2 maximum value.
b. Find the minimum or maximum value and determme where it occurs.

¢. Identify the function's domain and its range. ﬁ()( l/p ( (}, 0 ) / ( 3 o/ )/
I -

a. The function has a (1) value\ X ( ~% ) 2(" 3)

b. The minimum/maximum value is l . Itoccurs at x =

¢. The domain of fis l (Type your answer in interval notation.)

- TV
L, 29 2
The range of f isf ] (Type your answer in interval notation.) V” 4 3( = - 6 —6

" e rlex= (s, fp63)

Answers (1) maximum l/;,/—j’f X ’:(S} .-—}(g-) L._f-/? 0( g*) — | )

Ve (5 Do)
{~00,00)
(- 00,74] L/Gj/fx' i (f —7] 5 —F /5T #I)

[ of 23 512072019, 12:28 PM
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18. The following function is given,

ff) =74 - 5x% - 63x + 45 /

https://xlitemprod. pearsoncmg.com/api/v1/print/math

—

>

a. List all rational zeros that are possible according to the Rational Zero Theorem. Choose the correct answer below,

Lo sh
Fu st

1 1 7 1 7 1 7 1 7
O A, 1117:3 3t ig,tststﬁ,tstzt—
1 7 1 7 1 7 1 7 1 7
OB #la7 e t3294545 525 2525545
1 6 5 15 45
OC. £1,£3,£6,25 1524545, 4o 45— s —
D, £1.43,£9,£5 115, £45, £~ & iEtEtE s =
C_/‘nn 1 1 ] 1 71 7' 7- 7| 7r R

One rational zero of the given function is
(Simplify your answer.}

¢. Use the zero from part (b) to find all the zeros of the polynomial function.

The zeros of the function f(x} = 7% -5x% - 63x+45 are | |

(Simplify your answer. Type an integer or a fraction. Use a comma to separate answers as needed.)

R

Ar@f 1 3
D. 4 11 +3,£9,£5,£15,245,+ -, + -, &

7777?'

9 5
it S s

o ——

15 45

_,-'-"""

57/7'%4*’1%_
-5 -63
2 Sy

/u S5 bé(‘ Vetn
'2"’/1'} <

-r[\ +.g frz —f‘f—(’l\\ ".
G TV PN
/ *

_‘_'__—“m
f\/__J_t/ﬂrf a3
Y <

; \MJ(
;,3.-3 3 ) 7
ID: 3.4.11

/c

7%#/GFJ’ 2

(7x— )’7&"7"

At I~ =
% ﬁ/o-h

X~
X<

12of 23~

3)=0
X—3 =0
/\/-F3 —3 =

512012019, 12:28 PM
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T o -
19. owing equation is given. doujsnbbf }/-(‘ L;-,)/ 2.,.»-,;})
352 =
-2 -2sxes0=0 [ Last +

- "_'_'_._'_'_ . N .
a. List all rafional roots that are possible according to the Rational Zero Theorem.
,ﬁ F e

fsu*\

(Use a comma to separate answers as needed.)

b. Use synthetic division to test several possibie rational roots in order to identify one actual root.

One rational root of the given equation is | ! &“::lf____i Vi ~L€ 4o

(Simplify your answer.) 2l

c. Use the root from part (b.) and solve the equation,

The solution set of x> - 2x* - 25x +50 = 0 is i s
(Simplify your answer. Type an exact answer, using radicals as needed Use.i tegers or fractions for any numbers in the 5

expression. Use a comma to separate answers as needed. r=

(‘__Answers1-15-550 -502, 210—1025 5,25 { QA_Z)(/S?LY -
B 0 /U X*Fsx=u

2
- )( 1‘7"2 _:-k.J‘#"L_ X._(-T'_,r'-;-_-u—s“

25.-5 g 5 Shusil? C(D J [ e

ID: 3.4.17 9 _—
e 5 /J 2 _; ] 2 liioe s ETILES =
_"__—*—-—-—._,_:,____j:_— — =
20. Find tHe vertical aﬂmgt_gtas-ﬂf any, and the values of x correspondlng to holes, if any, of the graph of the rational function.

4 ) =
h(x) = x+3 M@ﬁﬁ ) )(__{_6 =

Select the correct choice below and, if necessary, fill in the answer box to lete your choice. (Type an W Use a

comma to separate answers as needed.) }\/,— 0 /L /(_’c

O A. There are no vertical asymptotes but there is(are} hole(s) corresponding to )(
—— —

O B. The vertical asymptote(s) is{are) and hole(s) correspanding (o { O

O €. The vertical asympiote(s) is(are) . There are no holes.

() D. There are no discontinuities.

Answer: C. The vertical asymptote(s) is{are) [ Xx==6x=0 | There are no holes.

QIR —2

13 0f 23 5/20:2019, 12:28 PM
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= {2x £
21. Figd the horizontal asymptcnte1 if any, of the graph o e tnonal functlon :71_- X

[
f(x) = f”" / J< '(L L - /’ . e .-——g
o3 ok Frlen x—a 9" "‘_—f /{_ (=202 X
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. O
- = W ()
(L) A. The horizontal asymptote is . (Type an equation.) c)
(0 B. There is no herizontal asymplote. - <
Lo rmdy g
Answer: A. The horizontal asymptote is ~y=0 . {Type an equation.)
_'__u-'“_-f_-_‘_-_\__"‘—\—\_._h\_ll_ :
- H . O ==
ID: 3 )( . :
P e - = o _"‘-_'_'d_'_'_ﬁf \ ..A l £
22, Find the horizontal asymptote |f any, of the graph of the tlona iction. Z ,!il

{( /, g o
g(x)-sx 46y £Y S 5 & -
x >M 7 Y Er.dy e

Select the correct choice below and, if necessary, fill in the answer box to complete your chonce.
n

) A. The horizontal asymptote is . (Type an equation. s . =
ymp (Typ ) [ o~ [ 4 E
(O B. There is no horizontal asymptote. ¥t
X—>00

Answer: A. The horizontal asymptote is r 'y =4 .. (Type an equation.)

ID: 3.5.39 — -

L SRR

4 of 23 5/20/2019, 12:28 PM
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23. a. Find the slant asymptote of the graph of the rational function and b. Use the slant asymptote rap atronal
function. v / / — — /1 -
f 2 —x-12 : 7_? R
= S
)=—""7 _@ 2o

a, Find the slant asymptote o pl;-or‘- ect the correct choice below and fill in any answe ~withjn your
ice. \1—-10\.[)/4_/)/)/— "l’{‘ X

choice
4 Y /4/]: /—:7& (O) -—/0/—-IL O—0—l_ —
Q) ~7

() B. There is no slant asymptote.

b. Use the slant asymptote to graph the rational functi

First determine the symmetry of the graph of f, > %//

() A. The graph has y-axis symmetry: f( - x) = f{x). .
() B. The graph has origin symmetry: f{ = x) = = f(x). /-"""t/ X" ~— 11 L’" W? /‘( 7“ - @

(O €. The graph has both y-axis and origin symmetry. O - X _)(_ L
Wﬂa MEItheT y-axis noT orgiT Symmetry—— . —— L =
_— \ X~

Find the y-intercept(s). Select the correct choice below and fill in any answer boxes within your choice.

Q &R The y-intercept is i 0 ()(——7) - l ( X X — {1)
(Type an mteger or _a,srmpﬁfed fractlon Use a comma to separate answers as needed )

() B. Thereis no y-lntercept O )( ‘—"')( —

Find the x-intercept(s). Select the correct choice below and fill in any answer boxes within your choice.

l@,"/rhe x-intercept is _ (< @"'3 )( e k}‘)

‘*-__ _ (Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

) B, There is no x-intercept. ,..’c’b e ﬂ /( 5/ L

Find thg vertlcal asymptote(s). Select the corrgﬂ..obom.t/m( in any answer boxes within 5ur choice.

Gk = N inle 3¢9

r\o_h — (Type an integer or a simplifi

() B. There is no vertical asymptote. e _L“_VQ /L} FEn 7{7/,LL

Find the horizontal asymptote(s). Select the correct choice below and fill in any answer boxes within your chorce

— = - &ilc
O A y= A X- 1T=0 l// A
{Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
& There is no horizontal asympioie. e )(,., 7-—/- ) = O - ’)
-

Plot points between and beyond each x-intercept and vertica al asymptate. then-use-the-i

functloﬁ\?se the correct graph below. g , Se 9 /G / 1 s
) E

O B. Oc.

15 of 230
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Answers A, y= xX+6

D. The graph has neither y-axis nor origin symmetry.

12

A. The y-intercept is 2

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.}

A, The x-intercept is -3,4 f

{Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
A x =I 7 {Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

B. There is no horizontal asymptote.

ID: 3.5.85

16 of 23 5/2002019, 12:28 PM
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T
24__-Graph the given function by making a table of coordinates.
—,

f(x) = i"//
|&fe the table of coordinates.

X -2 -1 0 1 2
y !
{Type integers or fractions. Simplify your answers.)

Choagse the correct graph below.

Answers

D: 4.1.11

— e

25. Find th&.domain of the Ic:garithmicﬁa?ﬁ:.hﬁ'fﬁfl,r

f(x) = log (4 — x)

The domain of f(x) = log (4 - x) is
(Type your answer in interval notation.)

Answer: { - 00,4} ,{;__/ _.// > O __,y -
ID: 4.2.77 —~ >~y T \

Ay by o
T2 Tyt |

—

17 of 23 ——
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L=
26. Use properties of logarithms to expand the logarithmic expression as much as possible. Evaluate rithmic expressions E

without using a calculator if possible. ) 55 (ﬁ,_ / c)’ﬁy__( 0)_ /

Iogb[ 6] Zuj (/9) '__[U)b(ecj - [Ogg/lfy- C(f{/-l?»fé(%/ﬂ/

|2

Answer:

ID: 4.3.27

27. Solve the following exponential equation by expressing each snde as a power of the same base and then equating

exponents. o 2)x—rs 62) L | —2¢ = -3

4315 el R‘N_Zy x —ZX - —3,

—_

The solution set is 4 . ’

X+ 6= HA—2v |
Answer: 15 2 \/-—r‘/C'—@T_ (/(__z v_ g ;.
ID: 4.4.19 ,2"\/ TYX =30 _ :

—— X —A = ¥ ¥—3 Y s - ———

28. Solve the following exponential equation by taking the natural logarithm on both sides. Express the solution | E of+— -
natural logarithms. Then, use a calculator to obtain a decimal approxumanon for the solution.

8o *=1656 ggf /(’ﬂ’

What is the solution in terms of natural logarithms?

The solution set is :} ZO 7

(Use a comma to separate answers as needed. Simplify your answer. Use integers or fractions

expression.) W€7 / = ,g. (207

What is the decimal approximation for the solution?

The solution set is {| ek ' 7%/& @) ’g‘/ea 7)

{Use a comma to separate answers as needed. Round to two decimal places as needed.)

Answers In 207 7)( ( /j - -/%" ( Z’U 7)
! 7X :_/Z /Zc/ 7)
0.76 ; B -/@‘7 /Zu 7)

ID: 4.4.31

7

B R
(A/:oqg l f/c?ii‘/




MA13I-4FIESTAC0REQI4I4READY039-AIfred0 Alvarez https tlltemprod pearson)cé:vom ‘api/v] ‘print/math

29. Solve the following logarithmic equation. Be sure to rejeqiny value of x that is not in the domaln fthe originat-logarithmic..

expression. %"‘L?.'.he exact anss.fverZ 2 2 X—+13 {)) ( \7} X
log,(x+13)=4 o ey =
26135 2 L = XF/3

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

/6T xX¥/3

QO A. The solution set is { }. (Type an integer or a simplified fraction.)

() B. There is no solution. / 6 — /8 T Y-+ }4’/ —_ &
B -ian
Answer: A. The solution setis {3 }. (Type amt i ==

ted fra_t_:_t_ign,}-—’—* =1 b
=3 = " SW oo™
ID: 4.4.55 X s O’ )

s
— T e -—
30. Solve the logarithmic equation. Be sure to reject a?y value of x that is rot in the domain of the original logarithmic

expressions. Give an exact answer. /. (;( fov—i)=/ LO), ( —-1) —+ (u ( JO-1)-t) =
V {
log x+ log 41(10x=1)=1 ;i) = ' ( /0¥~ ) CU&: (~1) —~+ (u) ) /_./)—/) =/

/ 7
Select the correct choice below and, if necessary fi II% the answer box 10 comp ur cho _+ C , \ ) /
) ‘ 7 /

() A. The solution set is { S & {Type an exact answer in sumpllf ied fﬂrrﬂ il
(0 B. There is no solution. < ok~ ' @"’ w)
Joi—(t =5 oR XF/= OULy Xc
T on Kel-[=0o

Answer: A. The solution set is = . (Type an exact apswerin simplified form. )

. e O )L //vw-w-/

rox=TirHi=or fy 94 n
(9x =11 um( W5+, (n-0= 7
ID: 4.4.67 / yii
..._:_____ ,J— A II.LL_-Z:’_ "{'é"")"f"r /“J‘)”""j
31. Solve the logarithmic equation./Be sure to reject any value of x that is not in the domain of the original logarithmic__ 4
expressions. Give the exact answer, Lo) 7 f:' (e, 4 Q w
log ,(x+9)- log ,(x-6)=2 - ’ X 6) é
4 4 z - X¥ 5 qu(7’/5 "_CU)C/ (7—-()
Select the correct choice below and, if necessary, fill in the an errﬁox to complete your cheice.

Vil -f;k///s’ — Cay [l) L

Q) A. The solution set is { }.
(Simplify your answer. Use a comma to separate answers as needed.) V{
| 1
(O B. There is no solution. /G(,( G} T {(x+<) | 631' %

[ — X~
Answer: A. The solution set is _)( C ?é %.,._ /% j X";:‘ g + 5 L\

{Simplify your answer. Use a comma to separate ariswers as needed.} \
X = X705
ID: 4.4.71 (X = [x—rpfor -
ISX=/05
(K Jos
- /5 /s

19 0f 23 ——t S 512012019, 12:28 PM
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32. Solve the logarithmic equation. Be sure to reject 3{9 value of x that IS notin trF domain of the ariginal logarithmic

expressions. Give the exact answer f) (= 5( %, / 7) ZC)) ( g ,}__3 Zg )—{{u,{ 7

log(x+8)=log x+ log8 /(—ff Z)(
Select the correct choice below and, if necessary, fill in the a X r box to complete y'sqchouceo—u‘y( / ""/

Xt 45

) A. The solution set is { } )( (i{

{Simplify your answer. Use a comma to separate ansWwers as needed )

() B, There is no solution. [ X 5’( 2l X )( J— 8 X
i e

Answer: A, The solution setis 7 . —7x — —7

(Simplify your answer. Use a comma to separate answers as needed.

Yﬁf—

e —

ID: 4.4.77

——— e

33. Solve the logarithmic equation. Be sure to reject any value o j( /hat is not in the dom n of the original logarithmic

expressions. Give the exact answer 9 } 6( 1 ) =
log x + log (x-2) = log 48 X(x—1) =
Select the correct choice below and, if necessary, fill in the answer box to cosn}pl @ your choice.

O A. The solution set is { }. — L X — g/i >,

(Simplify your answer. Use a comma to separate anSst as needed. ) ) o
e

() B. There is no solution. /( -t G
Answer: A. The solution set is { 8 }

{Simplify your answer. Use a comma to separate answers as ne}éed )Z

X~§ =0
ID: 4.4.87 _ X+#6—¢ = O"’Q 04 e

Loy &)+ Cog (=) = Cos(57)

Cosf~6)+Cos(-2) = UL
ij( c/%/vj/ Pz Coyy

Co (117 (}{7)) CZ;Z@
ﬁj . %
LAnD b Gor
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4. Completn.the table for a savings account subject n‘{mundlngs jérly 2{— s a??‘d '
n?\ / o;——b— = [ oo - / - (.‘ ="
P ) SO0 = /ODC)O l"f' Bt S
> n) | 70020 /JO
Amounted  [Number of Annual Interest Accumulated Time t
‘ll Invested Compounding Periods Rate Amount in Years
| $10,000 2 5.75% $18,000

Let A represent the accumulated amount, P the amount invested, n the number fcompoundlng periods, r the:a Zual

interest rate, and t the time. Find the tlme t. [y / RF77)
62575 fé [
o — = (I, 20, (1, 02{7,)) (b, (18572)

(Do not round until the final answer. Then round to one decima ‘J:Iace as eed d)
/e 5—( 02 575)°C 2 . 36762923 =
Answer: 10.4 /ﬂ..(/; ’8) /2 (/ 0&57;,) &( /(,d//) —//
R (Lg)-2¢ 8 (],0087)

| IDra4.107 @0 Q —_ '_é,__,/ !
35. Compl able for a savings account subject @MW
(a=pe")) = Jgooo = Fooo &

Amount Invested Annual Interest Rate Accumulated Amount Time tin years
$8000 3% $16,000 ?
Let A represent the accumulated amount, P the amount invested, r the annual interestJratf. and t the time. Find the time, t.
o/
f tx years /6 00w - Yoo
_il {Round to one decimal place as needed.) YO‘ 2, '-"" ’Fd 7
00 3L

Answer. 23.1 2 a 6

ID: 4.2.411 /Z_ () "’:/Z (e.ax)

/ﬁ(&), ﬂlé/z:(‘f/
Me) =.03¢(1)
Al =

F20720TY, 12:28 PM
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36. i ns. (ﬂj l i G /

x+y+8z= 6 I 6 &
x+y +6z= 4 )( ~Z =)
Xx-2y+3z=-2 =

Select the correct choice below and fill in any answer boxes within your choice. A}
2rop mdbist, RJL)/ }/f“( {

A. There is one solution. The solution set is

{( , , }}. (Simplify your answers ) V 7(
B. There are infinitely many solutions. O O V]
C. There is no solution. / b 7/ C A 1 O i
2
Answer: A.
There is one solution. The solution set is {( -3 1 ) }- (Simplify your
answers.)
ID: 5.2.5 ( ,2 ) (
'hh.._‘_\__.—'_,_._ i

_— - -—-—C._

37. Write th o@se general ermis given. — A ) .

q
=

1

=

\ 5

a| = ' | (Simplify your answer.)

a, = {Simplify your answer.)
a;= ] {Simplify your answer.)
a, =1 ! {Simplify your answer.}

Answers

~ N

a|ls W M-

22 0f 23 52012019, 12:28 PM
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_._.__ﬁ
38, 5 ( i 61
Find the indicated sum. Z‘(' 2) = C u 5 ¢ G 9/@_{1\-\, CalC Vv J

e ————— B

= ('(H-l)*-t'l('tfl'?’f 2(302) + Herr) + S (3‘%1%—

.21‘ z’i%im?(yw»f%s)-wi@ + S(D=

a—

Answer: 85 :,3 e 5#/{ ,74 ZY’_fL 2_3’ —

e T e S

39. Wtethefs@ e terms of the binomial expan }a ng the resuit in smplﬁedforrg ——l -
e et Y
(x+3)° L, N
/ > //C, . !
The first three terms of the binomial expansion are ] '
{Simplify your answer.) C . / C (:—J J ,
Answer: L 57,8 + 304x7 ( X"{ g/ 7 = e
ID: 8.5.31

CC(??’T Cﬂ/// ~f 6(7/)’)

(0(;( //)’7‘ (ﬁ(ﬂ%ﬂ%ﬁ/ﬂ/?//@%

()(1% v x T 320K

sl S . P — e e

sy i 0 L
;/4(/4 /?4 7Cr / _,
iy e Tl
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